Name: kg\/ 12/14/2017 Algebra I — Semester Test

1} Solve the f6110w1ng inequalities for the given variable and graph all your answers. Be sure to
C show all your work!! Leave your answers in the simplest fraction form.

) a)—3x—4 <20 -3xsly . ooy ’b)——8>25 s & >335 _
ke ) (--‘f;’"" SY S # 1 ¥ Tl CTEHS
~ 2)Find the x- and y- mtercept of the following X =2
@; a) 4x + 6y = 12 f’z“ | b) 2y — 10x = 20 C,—]f
/ . /O y -
3) Solve the following equat:ons for the given variable. Be sure to show all your work!
() 9x39=2  x=p D7=21 o
s e =
4 Write the following in words.
é‘/ AOSX =3 ST flnpy i e 3 102 (x=7) 2 tees e P sy ot
/Y s V4

. 5) Graph the fol]owmg 1‘nequahues | |
) ayd>x b)x<10w¢-—-;> X >3 e—gmep |d)-— 4<x e
6) Solve the foilowmg equations for the specified variable. Be sure to show all your work””
Leave your answers in the simplest fraction form.
a) Solve for / b) Solve for T -

@ P=2wt2l /ﬁp RT
g e -_2_ &I/ _% ..;-—},- AN

7
a) If you calculate the slope between two points and gecg ZEro on top, what do you say the slope

S is? £ /o
@ b} If you calculate the slope between two points and gﬁ zero on bottom, what do you say the
slope 1s? .
; o
8) Solve the following inequalitics for the given variable and graph your answers if you can. Be

sure to show all your work!!! At g s
(é/)a)5<4x—3<9 SEYxtiz 2 5’b)x+2< 20Rx—2>2 A

iz 43 3 P& xi 3 2 42 “AP—pem
~ 9) Solve the following equations for the given variable. Be surc 1o show all your work!!! oy
@: a)3x +5=5—2x /5;\._:_(: | b) 2(6x +9) = 6(2x + 3 187218 L’C}IW
pox T8 TEHIx w J.z,x +1§ = )/Zx rig

10) Solve the fo]]owmg equations for the given variable. Be sure to show ali your work!!!! Leave
your answers in the simplest fraction form.

é: 9W Gy 1= 3¢ b)S_x:i Cﬂx Z
\\g+1 " 9 4
&:345 =4

11} What is the order of operations? (in words) ‘-”" ;

& /

“enthe
)C‘) g?ff’ﬁ’fﬂ'zﬂfﬁ :”@tfhf c(“fvu{f C?;{]a{' gu)/-h &”L



12)

C/ a) Which side should the variable always be on to properly graph an inequality? Lefi
b) When you multiply or divide by a e atip. . youhave to Qudkcht the inequality
sign.

13) Solve the following equations for the given variable. Be sure to show all your work!! Leave
c your answers in the simplest fraction form. N

a)“_ff——}g 3,\’,!; @ ‘5} x—15 r-/ QLZZQ,:’

~ 14) Translate the fo]lowmg words into EXPRESSJIONS!
@/ a) y minus the quotient of 4 and b. b) 2 times the sum of x and 9

V= Vb 2 (x+q)
15) Given the following pairs points, calculate the stope of the line that passes through them.
T Leave your answer in fraction form. \ / j
(‘Z) a)(2,-5) &(—8,9) g-—5" =1y :@c) (=8,0) & (7.16) €7C ﬂ
*b"‘l - —(U -5 7 —Br (.Sh
16) Colten is standing next to a telephone pole. Colten stands 5.5’ tall and casts a shadow 4.2

} long. If the telephone pole is casting a 15 g?hadow how tall is the pole? »
Ko Xrbet’ S5 X ssE T
17) Write the following in words. Do NOT solve it. IR ol “2 /?S_

(%) D2x=5>-10 2 4ins x mings 5= |DVTHXSE  Z phes o 5 less fhay o
Ks ﬁf‘c.«;ﬁg/ 'f’h}cr{' —{e t‘.{(’fu»‘:' ! de B

~ 18) Given the following information, write the equation of the line. Use any form you want.

O a) slope = —4, y-inter: (0, 7) - g 47 ‘ b) slope = 2, PO:I};I)(( b2 , 10} 16=~4 1
=
19) 1dentify the independent and dependent variables in the foq owm% scenarios. b - f

~  a) There are fewer seats availa avallable to sit in as more students come to class. Y =2x iy

@ b) Since the snow 1s hers fiow 15 herc, the are starting to die off.

¢} Students’ grades go up as they do thei
d) The more stairs students go up, the more water thcy drink.
——

pp———

20) The perimeter of a square is P = 32Zin. What is the side leng_th of the square?

dx =32 (X Ly D
21) Draw a graph to represent Dylan’s distance from home in the following story. Dylan woke
up at 3am, left his house, walked to his hunting-stand, waited 10 hours for a deer, got frustrated,

shot a cow, and carried the cow home. It was only a calf. 4

X
<. 22) Solve for x i = N
2) Lz *\;"%‘ =3+ 1 4 _—
7 "I +"l]rﬂg
23){(=5,-3),(=3,-5),(2,-3),(=5,0),(0,0)}
a) Give the domain and range of the following relation: e -
@ b) Make a mapping diagram for the relation above. b Z 2 ';3; Lg,,Z})
N TN R §-5507
-5 % =57



Name: key 1/30/2018 Algebral— Test 4
o+

) Given the following equations, identify the slope and y-intercept.

a)y=x-75 b)y=38 c)y=%x+6.3
@) m=f m= ¢/ m=
b= "% b=g b={.32

2) Fill in the blanks for the definitions of slope:

rise _ change in _ v/ _h h

p | = ———= -
@ siope vun  changein __ X X, —&,

3) There are three different ways of writing the equation of a line. What are they called and what
do they look like?

3 Standecd — Frm A+ =C
b . i
(}' b) Slope—inter AR
c) f”é”f.q-f”*ﬁfﬁ}”f; )-',:; ,.,,,1{-)(-, Jﬁ,) ‘f){

4) One day you rent 3 movies for $25. Another day you rent 8 movies for $50.
a) Let x represent the number of poolpasses and y represent the cost. Write 2 ordered pairs for

this story. £ T (3,25) (& 52) §C-25 5

- b) Find the slope of the line. $~ — . 2
@ ¢) Find the equation of the fine. v = s(x-3)t2s~ ~Jyr Sxere | €2 s 7S

d) What does the slope of the line mean (in terms of units)? Bs
e) What does the y-intercept mean (in terms of units)?

R £

werthet @ crevies,

3) Given the following information, write the equation of the line. Use any form you want.

a) slope = —4, y-inter: (0,7) b) (-5,0),(0,10) le-¢ o
6 e e
C g+ / =2xr-0) 410

/= 2x e ]
—

6) Given the following points, find the equation of the line that passes through each pair of
points. You may leave your answer in any form of a line that you like. [i.e; slope-intercept, point-
slope, or standard]

2) (~1,2) & (4, 12) b)(3,0)& (2, —4) L% -y
- 23 -

@! _}.2_'.:?—%;__1_0.“2 2 Y

‘ A = (x2) -y
y = 2(X-Y) iz SHUX 5

m | Eﬁ7

——



7) Lab results: An experiment was done to measure the time it takes for an engine to cool down.
They measured the temperature of the radiator fluid (°F) and time (sec). The best fit line is
given below. The x- and y-axis start at zero and count by tens.
! a) Label the axes.
2. b) Just like in your experiment, circle two “nice” points and find the equation of the line.

| ¢) After 40secs, what temperature is the engine? 2457 [

{ d) How long until the engine is 90°F? 200 szc. -

& =
2ED
260 ~\t
24D R
N
Y
220
N\
.y
200
.y
P
180
L N4, o)
iX
\ 1&0
E\ ”" (Wd 132)
X /
8 R
T 120
100
at \
50 \k
\
Y
D
o 20 &0 B} 20 106 120 140 160 180 200 220 240 280 280
13¢ -
A " .
[60-130 _ 3¢ Time/bec
e --{

Rhadiiad
13 -l

y =~l{x~3%) Hipo

= ~X +Q70+EC



Name: }K €

3/1/2018

Algebral —Test 5

1) 4

a) When dealing with radicals, we do not wanta i/ in the denominator and a c-,’/féfﬁa-'_szfv_«f};_.

in the radical.

_ b) When dividing with the same [/« se , you keep the base and __Surfrac/~ the
& e
¢)In theradical ¥, 4isthe judex . Wesayitisa ¢  for ([ deal

d) When writing a number in scientific notation, there should be _ {

decimal.

digit/s before the

2) Simplify the following expressions. Leave your answers in exponent form with positive

exponems.
) \5-%(93,5 ‘;X s b) 3x10 ¥ 6x—18
a 4,9 — -
T y Y\ 54
o y g
@ x5
¢) 2x%y* » 9x5y dy (43x%y3% » x2)®
14y A LT
Ex 751

3) Simplify the lollowing expressions. Write your answers in scientific notation.

/6»(10‘“ .
k}/MUS ¢l X Lo
[2x67 )

o

4) Rationalize/simplify the following radicals.

an

{2

sl
b)25*105*74*10‘9
L5 %w’ .
—
8 ¢ x-x 8L/ X"
b3 =
VX & x X

SE = )

B L




5) Ratienalize/simplify the following radicals.

a)\/_

2 0/%

(= CH,
c) \/W 2 x ’}7@—

2~2AZ

6) Solve the following triangles. Leave your ans

7) Using the triangle on the right and the values given, fill in the following chart.

wers in the simplest radical form.

@) Trig Function | a)a = 1,b = 3,c = V10
sin 8 e = Je/o Vi

cos 0 S0 = 3/
tan 6 % 3
csc Ji
secf Jie/3
cot 8 2

8) Write the following numbers in sctentific notation.

a) 46.2 | b) 1700

“\ .62 xto [.7 X107
¢) 0.00064 - d) 9510000
Cy xyp! 219R90 957 x (b

.. 9) What are the definitions of the following trigonometric functions
(3 sin®) = epr/hyy

‘ cos(8) =

ad, / by

‘ tan(0) = op//J

cse(8) =

L/p%ﬁ,,

‘ sec(8) = {]‘ypr/J

‘ cot(8) = HCI/A/’/



Name: K€y 3/27/2018 Algebra I - Test 6

1) Write each of the following polynomials in standard form. Then, identify the leading
coefficient and name the polynomial.

= 4
- Polynomial Standard Form Leading Coefficient Name
@2‘ 3x% + 2x° 2x’ #+3x° 2 Cabic Bl
1-x+3x° Bx*-x 1 3 Paitrihe e,
x X f [iew _ macipm,
72t 7x 7 guarte  monem,
2) Simplity each polynomial expression. -~ Hak . o t3b
. ®5m?+9m? 4 5m’ @ 2mTr 2m? £6m”| b) (ab® + 13b — 5@)- (4ab? +a - 3b)
@ Yo 4 9m’ b ® “labt +lbb -6

) (=x?H 9xy — 2y) + 3(—y + 2x% + 4xy) | d) (a®b + b® + ab?) — 2(4a?b — a’h + b?)

3y @-f'ﬂxg - , —8a’b 124%°% -24"
~Sab +b>4p= 0 b
3) Use the picture to answer the following questions. 4x ‘+ 6
L S (S
Lz,ll a) What is the perimeter of this rectangle? b= 8X - 2x+ 3
2% 422 3| i2x | 2y
b) What is the area of this rectangle? Gty
o )
§x?r2%x t2y X
4) Travis needs to make a frame that is 5ft longer than it is wide. b
2
1\ a) How much wood does he need for the frame? o _____lf__,,__d
. . . , 5 L
b) How much space on the wall with this frame and picture take up?
2, e
WL 5
5) What does F.O.1.L. stand for?
- £ st, ouler , inncs L 5.
é/ First # | Last
Constant (| wEEEE
Linear I | Monomial
uadratic 2 | Binomial
Cubic 3 | Trinomial
Quartic 4 | Polynomial with terms
Quintic 5 | wkEkx
6lh, 7th, 8th. . Degree 64 | KoEEdok




6) Find the area of the following shapes:

a) Gyd
@ @; . 7:2.:1_:"?* (07 yel -
3 - A
11in - .
Ty~ {2
c) d) 6 m 2m
- ¥4 Ham J(;Lf'
2 St B N |
s = LYy 2
u [
dyd 12m
7) Multiply the following polynomials.
) (5x + DBx—7) . ‘d) (x —2)* 2
1S% 327 X —x+y
Sx syt Yx 7
x5y | 3x 2c| Gy ? | X My
-7 |35x -7 13X Uy | 7
X -
x| x* | -2x
2| -2x | +Y




Name: K <t 4/26/2018 A]gebra [—Test 7
1) Check if the éiven point is the solution. Show your work !/

a)(3.-1ny<5x+7 ﬁ_[y=x—2 c)(2,5); ¥y > 6x + 11
| 0) (0,~2ily) o o=y
~1 5500 +7 o 2 o 62
3 -t=22 - S>23 ,
‘/ -z =2 _ /['
Sed i
2) Solve the following by GRAPHING them. Use graph paper!!
y=—x+t4 EEFAN b)y > —2x—5
a)[y=x_z [3,1) )y 3

@/ \\ ?7 1

: &l
/
LY
/ A
//
/. .
3) Solve the following systems by SUBSTITUTION_
[y x—11 b
D x ¥ = —4 )
X F2x-if =Y y=2(7) Il
X~ F-4 =3
X &7 (7/ 5)
4) Sol the foNowing systéms by ELIMINATIO
{Bx =7 | b?.
(9 2) Zx +y =3 )
} L 3(2.) ~y=77
C/ SY=10 4

b-y=7




5) For the following stories, ONLY setup a system of equations that could be used te answer the

question.
%, a) Travis bought 5 pés and 2 pe%ils for $5. Colten bought 2 pens and S pencils for $4. How
9 much does it cost to buy a pen and a pencil? Sx&y =5 v =¥ -g_'f
2x+8y=19 . v H,4%

b) Shyneah w to top Allison’s party, She invites 20 friends. Each friend can either have a
bottle of Mountain Dew or a bottle of S¢frite. She spent $46 on pop. Each Sprite costs $2 and L My
each Mountain Dew costs $3. How many of each kind of pop did she buy?éx-i-y: 20 X = it
3xr2y=tb, y = I e
c) Ryé’igh and J{)s/ie are going to try their experiment again. This time they will blow up 2
bottles. After surrounding them with firecrackers, they take off running in different directions. If
together they run for 12 seconds and Ryleigh uses a jetpack to go 4 times as long as Josie, how
long does each go? XFy =12 X =dlsec
X =ty V= 2.4 sec
d) Ryleigh and Josie do not make it away safely this time. In fact, all of Shyneah’s friends
(including Shyneah) got sprayed with pop or plastic. It 6 times more people get splashed with

§p than with plastic, how many people were hit with pop? Xy = Sf X= ﬂt{ per
y X’:é{y }/E'B }pfan‘«-“c‘

6) Match the following linear inequalities to their graphs.

A)y<ix+3 B)y>—:x+3 Cy=3x+4 D)y <—3x+4

@

?
1
3
b or g & th

@)




Name: Key 1/12/2018 Algebra I - Quiz 13

1) Match thé following forms with their definitions

O W-2 A. form used by employees to inform employers of exemptions
N T W-4 B. form used to repert income to the state
@ I 1040 C. form used by employers to report income paid to an emplovee
_‘L ND-1 D. form used to report income to the RS

m b

2} Given the following equations, identify the slope and y-intercept.

a)y =7x+95 b)y =2x + 4.1 )y =125x—5
- 2
@ I'm ::z_ m= Vo m=l.25"
b= b=1d =5
3) Find the slope of the line that passes through the following points.
a) (0,—6) & (=5,-5) b) (—8,6) & (—=5,-7)

3

: Y A A L /
@ “_g‘.mo i "ﬁ',,’

4) Match the following forms with their definitions

r’:', y=mx+b A. Standard form
@\ C y=m{x —x.}+3 B. Slope-intercept form
/4 Ax+Bx=C(C C. Point-slope form

5) FcEr the folt

owing graghs, what are the slopes?

. - . 1 S0 W IR R
., Lk

L IOV ST S RN R R Y A i

T % 7 € 5 4 3 4 40 % 3

PO IR Y S | JR SR S E

5 SV QOO SN, OO NP VR IR

104 N

6) Given the following information, write the equation of the line. Use any form you want.

...a) slope = —4, y-inter: (0,8) b) slope = =2 (2,1)
2y I G
o +f +9 T

=y &:d;;‘;;



Name: kg‘-/ 1/19/2018 Algebra | - Quiz 14

1) Fill in the blanks for the definitions of slope:
pig_Cchangein 7 % -»

lope = —= _
R change in X X2 =X,

A= m D

~-5-"5=3

2) Given the following pairs points, find the equation of the line that passes through them.
a){(0,6) & (2,-2) ~2-¢=-5 My | b) (—8,6) & (—5,12) 12-€ =L ma2

3} Match the following forms with théir definitions y=2 (1’"““57) £
5 y=mx+b A. Standard form Y 22K Fil AL
e y=mx—x)+»n B. Slope-intercept form w /")
Ai Ax+Bx=C C. Point-slope form

4) For the follo%wing

»|

FIR

: h + g B
y:.‘-gx‘ .-'—LI 'f/:2x ”_'2‘

5) One day you buy 2 pool passes for $12. Another day you by 8 pool passes for $30.

a) Let x represent the number of pool passes and y represent the cost. Write 2 ordered pairs for this story.
b) Find the slope of the line. > 12 P

c) Find the equation of the line. C , 12) (g; 30)

d) What does the slope of the line mean (in terms of units)?

e) What does the y-intercept mean (in terms of units)?

3012 2 tg

_ -2 =¢ -
Y=3(x2) t12
=3x-L 412

@ 23X HRE ' |
. DA Lo The ey s

Of?) The. Cost- per FEss



Name: ey 2/8/2018 Algebra I — Quiz 7

1) Multiply/divide the following expressions. Write your answer with positive exponents.
a) (x3y?)6 s 3 rb) (xﬁy‘—-B)——S Ger
X-Jo
2) Fill in the blanks: _
a) With a power to a power, you /Mgy {‘f‘.«‘%g,_/the exponents. (ex. {x%)%)

b) When writing a number in scientific notation, there should be I digit/s before the decimal.

¢) When dividing with the same & LS , you keep the base and S ybbract the e_,\;ﬂ;,?nfé;

d) In the radical ¥, 4 is the JacfeX  Wesayitisa "(’ for ( deal.

3) Stmplity the following radicals, .
a) V48 L[J; b) i/ 24x7y6 27‘"2}/ LL}/ 3x
i~ N
M JZ/,__‘ ‘. -gf 3
4) W the fo’ll"bwing in scientific notation. 2722
2)123400 23y x> b) 00002876 18576 %007
5) Multiply/divide the following expressions. Write your answer with positive exponents.
a) 2x% = 6x ™14 i b) 4x%y3 * 3x° o
=5 2%
6) Write the following in standard form.
a) (—5)° b) (—8)*

25 "



Name; k ‘9’/

2/16/2018

Algebral —Quiz 18

1) Fill in the flanks:

a) There are two things you do not want with radlca]s You do not want a ‘—{{’F(j(qf in the

ﬂf e

¥ ou do not wanl __fe, zemus d;ﬁfthe m;p(uc ef .

b) In the radical \/—_ 4isthe [ ndfexr . Wesayitisa Y

2) Simplify the following radicals.

a) V56 240
7 %
2 22
3) Raticnalize/simplify the following radicais.
21 SN ~
a) |- ; LI Y o
X X

43 Ratlougllzefalmpm following radicals.
81 k-

a)‘Ei ﬁLd/J

4y

b) 7=

for { deal.
3 10,24 27
81x1%y ) _x}/
FE[ 5?(
$% 53
S’ 3 . ;f‘;
e A
"'J' -3 ——
A 3
%3
1 f j 7
w2/
2.r 22

5) Solve the following triangles. Leave your answers in the simplest radical form.

a)

9.7

. 5 '
133 X f?7z 33.54

17 4, [

b)

6.5

2 7 = s

X239, 7¢

6) Solve the following triangles. Leave your answers in the simplest radical form.

a)

b)

(=80

7

I —



Name: (c&/ 2/23/2018 Algebra | — Quiz 19
7

b
g
Using the triangle on the right and the values given, find all the missing ¢
sides and angles. in the following chart. a
o
b
Given: 7 B a b c
a) | 45° {45 7 ’ 7/2
b e - 4 4 3 —_—
747t
2)_ What are the definitions of the following trigonometric functions ﬁ:{/c?
sin(8) = eptthyy ~
. g 4
cos(9) :fwezﬁy/’ ~ ;‘.::
tan{8) = a?/‘f'/ewf; 7/ =C
. X Fa 2
csc(A) = ﬁyf/ﬁff’ 4 +3 =¢
— 12
. . sTmi
sec() =hypfec; J{‘ /\
s-C,

cot(8} :‘M"’A{f/
3) Each of the trig functions given above are abbreviations. What do cach of the abbreviations stand for?

3?."/1 <, (5.t —;f-’lnﬁkfri :‘; L0 5 catt ('} Scecant, (o 'f:‘i’f'i’ﬁfd@‘fw
4) Using the triangle on the right and the values given, fill in the following chart.

Trig Function | aya = 2v3,b = 2,c = 4
sin @ B, @ 243 \d
2 4  ah
cos %/.1 - L ‘
2
tan 6 9,/7/2 - \/—3“ 2
cscH %}}— - 2%
secd '
2/
cotd 3 - SE
%= %




Name: k‘m/ 3/16/2018 Algebra | - Quiz 21

1) Put the folfowing polynomials in standard form and identify the leading coefficient.
a) 7x% + x — 5x°® ) b)5x2_7r5/+8—3x3+2x

~SxCrTH T x5 =3y’ FEX T 20 +8’®
1

2) Multiply the following expressions.

-1 (x+3 b) (x 4+ 2)(x* —2x + 3
DO-DEED )42 =204 3)
X=X +6
3) Multiply the following expressions.
D x(x+2) )(1+ZX b) x2(x% - 5x) v S‘"‘__._;\A,?

4) What docs F.O.LL. stand for?
.1C;‘rS?L, owte, J\-'Jﬂf/; la si

5} Classity the following polynomials by their degree and number of terms.

Dx’+3x-2 4 waol-af b) 82 G5 ven
oo / HMericmay |
c}7+x [Me o d) x¥ + 6%x cabite
b .‘nom,«‘p,j biremm e f.
6) Simplify the following expressi . ]
a) x° fF x o 30O+ 2x? S i | b) 33 @- 1— x_3@)
TN ) e R
X -l X
2 .
X | X" | -x X x? | 2x*
3| 3x | -3 =28 ~2x" |~y

3 Iy 6




Name: kg 4/6/2018 Algebra I — Quiz 24

1} Solve the f‘%rowmg syslen\‘ls by SUBSTITUTION. e
X—3y=-6 / 2(i ==l Y= - G oy)
{ ! 5 3/) - T __%—-L— -
X+ 15 B/y 36" ‘6)/ '_3/ f:;-é; — 0"‘9’ X
-3¢ e e - 3/
ra b 2%}

2) Solve the fo]]owmg systems of equatlons by SUBSTITUTION. (5702 =2, X

v -|:5 . /x\ ’ y—2=
a) { }Z‘_\‘ . N b)
Xty =5 (& ¢ y =G =1>
X+ x5 =5 X~f-2=2x
DxrsEE _ xR =R o
2 =e AZe  yp=otEs —3Ex y T3l =y
3) Sketch the following systems and identify the solution. (Circle it AND write the point) (;3 N
"x+y=5 Ul Kegls, y=2x—1
A Siln
5 (\
\
Ay N
/
/It
/

y. 4

[
-

r\\..
X




Name: f‘t}—/ 4/13/2018 Algebra I — Quiz 25

1) Solve the following systems by ELIMINATION.
2x—%:—6 / / 1 X \4x-y:-*5 . -
a)[er =15 L(/E’L ﬁk—2x+3y:10\ (o3
3)(: 7 Sf'?/y -':fgh "'LIX ?_a;/ ;:20 I{X:‘Z
. =i2 U =T X.:“S‘-
¥=3 v ey T
Y= t Sy = /8™ ;"“\
y:}’ (’b) ?)//}
2) Solve the following systems of equations by SUBSTITUTION.
)[y::HS 1 -b)y-—2x:2

=5 T T yrx=+1
X+ X£$= 5 @/} X =3
- X=-3 \
2x =
{ @_{:Q//}

X=0 Y- 35
y=ofs yt7 =
=5 y =y
3) For the following stories, ONLY setup a system of equations that could be used to answer the
guestion.
X

a) Travis bought 4 DVD’s and 2 candy bars for $19. Colten bought 2 DVD’s and 4 candy bars for $15.
How much does it cost to buy a DVD and a candy bar?

Ix +2y =19

Z2x +Hy=ts” ¥ .
b} Morgan spent $134 on 2 a'guil tickets and 3 youth‘tickets at an amusement park. McKenna spent $146
on 3 adult tickets and 2 youth tickets. What is the price of a youth ticket?

Sx +2y =1k
¢) The width of a rectangle is 5m shorter than the iength. The perimeter of the rectangle is 30m. What
are the dimensions of the rectangle”?
y s

I 2X -{--Zy = 3o

%/ = x5



Name: iuy 4/20/2018 Algebra | - Quiz 26
1 So]ve th fopbwing systems by ELIMINATION. Y .
§1x+2y*5) | [<2x+4y——20/ Pt Tz
2) 3x + iﬁ 9 1Er) r2y =5 4x — 6y = 36
~2x ~Hy =16 + +i ~\x +§y = —lx= 2 g
X =T 2y =6 y ==Y X=1Y
‘,‘_’_: j i -
4 / 6 (!“// 2)
( f f)
2) So]ve the i ystermns of equations by SUBSTITUTION. ¢~ '
=(x + 6 b {y 2x =4
x +y= ) x=-2 ‘
X+ X+ =
o i =E _
XH =14k
2X = 2

3} Answer the followin
a) Matthew bought 5 D

uestions.
’s and 3 can

y bars for $33. Marcus bought 2 DVD's and 6 candy bars for

$64.5. How much does it cost to buy a DVD and a candy bar? 4
2 (52(-}-?), 23 "/(Z’ QK —~&6 —&x- jl s ST ey
2% + G/V =T R e 19 #

b) Taya spent $35 on 2 adult glckets and 3 ym}{ﬁ ’uckcts at an amusemnent park. Dana spent $85 on 4

adult tickets and 9 youth tickets. What is the price of a youth ticket? )
_?/Y »—é/ ==7 ;f i
Yy iy = 5” Y

¢) A plane flying to Minneapolis with a tallw?/d averages 160km/hr. On the return trip, the plane only
averaged 120km/hr into the same wind. What is the speed of the wind?

L 2x ok Gy -“?s- )
Gy + 1y =

Xty =ibo 2x
Yy = (20

Yy FT5 &S

Ao Yx rysT= &S
fentit Yy = 1_{&,,

X= 140 4

d) The difference of two numbers is 22. Their sum is 96, What are the two numbers?

X—y =22
X+y =94

2;{_; ES"




